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Section A

1. Find the domain of the real function 

Watch Video Solution

f(x) = √x2 − 25

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NAcISqR8kgGz


2. IF  are defined by 

and  , then find (fog)(2)

Watch Video Solution

f :R → R, g :R → R f(x) = 3x − 1

g(x) = x2 + 1

3. Define a symmetric matrix. Give one example of order

Watch Video Solution

3 × 3

4. Find the inverse of the matrix .

Watch Video Solution

[
1 2

−3 −5
]

https://dl.doubtnut.com/l/_kaME5nNJLroe
https://dl.doubtnut.com/l/_8nSeFmiZVne9
https://dl.doubtnut.com/l/_VhaXWqUxIC3L


5. If vectors  are collinear

vectors then find .

Watch Video Solution

−3 ī + 4j̄ + λk̄, μī + 8j̄ + 6k̄

λ&μ

6. Find the vector equation of plane passing through Points

(0,0,0) , (0,5,0) and (2,0,1)

Watch Video Solution

7. Find the angle between the vectors

.

Watch Video Solution

ī + 2j̄ + 3k̄  and 3 ī − j̄ + 2k̄

https://dl.doubtnut.com/l/_hWhpyMxipbbn
https://dl.doubtnut.com/l/_60jAE9Iz3wXT
https://dl.doubtnut.com/l/_dQ6ZmccaCZhK
https://dl.doubtnut.com/l/_gezSKQhoFWPq


Section B

8. Find 

Watch Video Solution

sin 330∘ . cos 120∘ + cos 210∘ . sin 300∘

9. Find the extreme values of 

Watch Video Solution

cos 2x + cos2 x

1. IF  then find AB' and

BA'

Watch Video Solution

A =
⎡
⎢
⎣

7 −2

−1 2

5 3

⎤
⎥
⎦

, B =
⎡
⎢
⎣

−2 −1

4 2

−1 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_gezSKQhoFWPq
https://dl.doubtnut.com/l/_VQUkPpN0aBhQ
https://dl.doubtnut.com/l/_kYX5mf2lwhUO


2.  are non coplanar vectors. Prove that the four

points  , , , 

 are co-planar.

Watch Video Solution

ā, b̄, c̄

− ā + 4b̄ − 3c̄ 3ā + 2b̄ − 5c̄ −3ā + 8b̄ − 5c̄

−3ā + 2b̄ + c̄

3. Let  and  be vectors,satisfying  and 

. Find the area of the triangle having 

and  as two of its sides.

Watch Video Solution

ā b̄ |ā| = ∣∣b̄∣∣ = 5

(ā, b̄) = 45∘ ā − 2b̄

3ā + 2b̄

4. If A is not an integral multiple of , prove that 


(i)  


π

2

tanA + cot A = 2 cos ec2A

https://dl.doubtnut.com/l/_aAYZigRtVZDb
https://dl.doubtnut.com/l/_r79jsPeaBGch
https://dl.doubtnut.com/l/_GE48uAdju1QG


(ii) cot A - tan A = 2cot 2A`

Watch Video Solution

5. Solve the following equations 

Watch Video Solution

√3 sin θ − cos θ = √2

6. 

Watch Video Solution

sin− 1( ) + sin− 1( ) + sin− 1( ) =
4
5

5

13

16

65

7. If , then prove that .

W t h Vid S l ti

a = (b − c)secθ tan θ =
2√bc

b − c

sinA
2

https://dl.doubtnut.com/l/_GE48uAdju1QG
https://dl.doubtnut.com/l/_jL7Ab3IhqXMH
https://dl.doubtnut.com/l/_kp21YLseHM4p
https://dl.doubtnut.com/l/_oZQMMOFFWepG


Section C

Watch Video Solution

1. If  are two bijective functions then

prove that  is also a bijective function.

Watch Video Solution

f :A → B, g :B → C

gof :A → C

2.

Watch Video Solution

lim
n→ ∞

{ + + + .... . + } =
1

1.3

1

3.5

1

5.7

1

(2n − 1)(2n + 1)

https://dl.doubtnut.com/l/_oZQMMOFFWepG
https://dl.doubtnut.com/l/_PFVAKUOPYiQV
https://dl.doubtnut.com/l/_jZwM7N32O3yj


3. Show that

Watch Video Solution

∣
∣
∣
∣

a + b + 2c a b

c b + c + 2a b

c a c + a + 2b

∣
∣

∣
∣

= 2(a + b + c)
3

4. solve the following system of equations by using Matrix

inversion method. 

.

Watch Video Solution

2x − y + 3z = 9, x + y + z = 6, x − y + z = 2

5. Show that 

i)  


ii) 

ā × (ā × (ā × b̄)) = (ā. ā)(b̄ × ā)

{(ā × b̄) × (ā × c̄)}. d̄ = (ā. d̄ )[āb̄c̄]

https://dl.doubtnut.com/l/_iFqk7ywfuHde
https://dl.doubtnut.com/l/_I8MD2fet1u7C
https://dl.doubtnut.com/l/_Qg1zyjN8Q23I


Watch Video Solution

6. If A,B,C are angles in a triangle , then prove that

Watch Video Solution

cosA + cosB + cosC = 1 + 4 sin. sin. sin.
A

2
B

2

C

2

7. Show that 

Watch Video Solution

r + r3 + r1 − r2 = 4R cosB.

https://dl.doubtnut.com/l/_Qg1zyjN8Q23I
https://dl.doubtnut.com/l/_VF0zD5ZWaEc5
https://dl.doubtnut.com/l/_uLU1NJ91uheQ

